



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\frac{1}{2} - \frac{1}{3}\right)^2 - \frac{1}{2}\left(\frac{3}{5} + \frac{1}{3}\right) =$$

$$\left(\frac{3}{4} + \left(\frac{1}{2}\right)^2\right) \times \frac{3}{4} - \left(\frac{3}{4} + \frac{1}{2}\right)^2 =$$

$$\left(4 + \frac{1}{2}\right)^2 - \frac{1}{6} + 5^2 + \frac{1}{3} =$$

$$\left(\left(\frac{3}{5}\right)^2 - \frac{3}{5}\right) \times \frac{1}{2} - \left(\frac{3}{2} + \frac{1}{2}\right)^2 =$$

$$\left(5 + \frac{1}{3}\right)^2 + \frac{1}{6} + \frac{1}{2} - 4^2 =$$

$$\left(5 + \frac{1}{6}\right)^2 - \frac{1}{2} - \frac{1}{2} \times 3^2 =$$

$$\left(\frac{3}{5} + \frac{3}{5}\right)^2 + \frac{1}{2}\left(\frac{1}{3} + \left(\frac{3}{2}\right)^2\right) =$$

$$\left(3 + \frac{2}{5}\right)^2 + \frac{1}{3} - 5^2 - \frac{3}{2} =$$

$$\left(\left(\frac{3}{4}\right)^2 - \frac{2}{5}\right) \times \frac{1}{2} + \left(\frac{1}{2} + \frac{1}{3}\right)^2 =$$

$$\left(\frac{1}{2} + \frac{3}{5}\right)^2 - \frac{3}{2}\left(\frac{3}{4} + \left(\frac{1}{3}\right)^2\right) =$$



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\frac{1}{2} - \frac{1}{3}\right)^2 - \frac{1}{2}\left(\frac{3}{5} + \frac{1}{3}\right) = \left(-\frac{79}{180}\right)$$

$$\left(\frac{3}{4} + \left(\frac{1}{2}\right)^2\right) \times \frac{3}{4} - \left(\frac{3}{4} + \frac{1}{2}\right)^2 = \left(-\frac{13}{16}\right)$$

$$\left(4 + \frac{1}{2}\right)^2 - \frac{1}{6} + 5^2 + \frac{1}{3} = \frac{545}{12} = 45\frac{5}{12}$$

$$\left(\left(\frac{3}{5}\right)^2 - \frac{3}{5}\right) \times \frac{1}{2} - \left(\frac{3}{2} + \frac{1}{2}\right)^2 = \left(-\frac{103}{25}\right) = \left(-4\frac{3}{25}\right)$$

$$\left(5 + \frac{1}{3}\right)^2 + \frac{1}{6} + \frac{1}{2} - 4^2 = \frac{118}{9} = 13\frac{1}{9}$$

$$\left(5 + \frac{1}{6}\right)^2 - \frac{1}{2} - \frac{1}{2} \times 3^2 = \frac{781}{36} = 21\frac{25}{36}$$

$$\left(\frac{3}{5} + \frac{3}{5}\right)^2 + \frac{1}{2}\left(\frac{1}{3} + \left(\frac{3}{2}\right)^2\right) = \frac{1639}{600} = 2\frac{439}{600}$$

$$\left(3 + \frac{2}{5}\right)^2 + \frac{1}{3} - 5^2 - \frac{3}{2} = \left(-\frac{2191}{150}\right) = \left(-14\frac{91}{150}\right)$$

$$\left(\left(\frac{3}{4}\right)^2 - \frac{2}{5}\right) \times \frac{1}{2} + \left(\frac{1}{2} + \frac{1}{3}\right)^2 = \frac{1117}{1440}$$

$$\left(\frac{1}{2} + \frac{3}{5}\right)^2 - \frac{3}{2}\left(\frac{3}{4} + \left(\frac{1}{3}\right)^2\right) = \left(-\frac{49}{600}\right)$$